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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The number of altitudes in a triangle are: 9 P BAC WO R |
{A) 1 (B) 2 (C) 4 o) 3
2. Area of an equilateral triangle with side 'a' is: 3 tﬁ};bﬁx'a'fﬁu):&ﬁc bl o 2
L5 e Ve
(A) ) (B) bh (C) 4 (D) 5
3. The co-ordinate of the origin are: g lnehsl i 3
(A) O (B) (1.0) () (0.1) (D) (0,0)
4. o = ¢ is asurd of order: e 208 g = a'li Fi 4
(R) 0 (B) 1 © 2 (D) j:;_
"5 (at+h)~(a-b)’=? (a+b)’-(a-b)’=? 5
(A) 2(a’+b?) (B) 4ab (C) -4ab (D) a’+b?
6. Factorization of x*-186 is: i{a;j;’.;g,(xz—m 5]
(A) (x-2)(x+2) (B) (x-4){x+4) (C) (x-2)(x+2)(x’+4) (D) (x-2)(x+4)
7. Ifx-ais a factor of p(x), then p(a)="? :’é»:p(a)?ﬂd_/-";:zfp(x)sx—a/} 7
(A) O (8) 1 {C) -a (D) a
8 H.C.F of 12pa.8p’qis: 7 Vi b8 12pq,8p%q .8
(A) 4pq (B) 4p’d’ (C) 4pq’ (D) 4p'q
9. Solution set of [x-3}=5 is: —e e SEix-31=5 .9
(A) {8,-2} (8) {-8.-2} (€ 82 (D) {-82}
10. Any value of the variable which makes the equation a true ig_:ilkl’r../_—.r. bnfe g 7 edes 10
statement is called:
(A) Equation «fils (B) Inequality ..:«!;l//-f (C) Solution ° {D) Constant J“’P
11 Solution set of x*-9=0 is: ‘e 2 f¥P-9=0 11
(A) {8} (B) {+9} (C) {3} (D) {* 3}
12. Solution set of x’>=1 is: e JHxP=1 12
(A} {1} (B) {1} €) {£1 D) {1}
13 In matrices (AB) '=? A (AB) =22 Uxs 13
(A) A (8) B” () B'A" o) A'B’
14 A matrix consisting of one row is called: e bl B AAS T 14
(A) Row matrix - JES/& (B) Column matrix A5¢¥
(C) Identity matrix 350~ (D) Scalar matrix  EA”

: ; - , r
15. The sum of angles of triangle is: e trer §U L 2 15

(A) 90° (B) 180° {C) 270° (D) 380°
21-10-A-3¥ ¥¥-21500
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Marks: 60 Time:2:10 Hours JZ:]U::.-’:
Section -I 2x18=36
2. Write short answers of any six parts from the following. 2x6=12
i. Define an improper rational expression.
ii. Reduce to the lowest terms. S{; : 5;5,
¢ 1(
i, Rationalize the denominator. '\g:k \E
iv. State the remainder theorem.
v. Factorize: 2a’-bc-2ab+ac
vi. Factorize 27x°+1
vii. Define Least Common Multiple(L.C.M).
vill. Find HC.F. 6par,15grs
ix. Find the square root. 16X +24xy+9y?
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3. Write short answers of any six parts from the following. 2x6=12 -_—, fif"ﬁriil;c.df.:,uﬂdab, 3
i. Define law of trichotomy. -u:,’u,ér’/)lpr{_)lf;)fﬁ' 1
ii. Solve [2x-3]=5 A
iii. Solve 3(2x-1)=5(x-1) _;~§:P il
iv. Solve by using factorization x*=8-7x _L,._rxz,f’df.:;-u; v
v. Write a quadratic formula. wufgjb’..:flw-dn.n v
vi. Salve 2x%=3x LS i
vii. Define column matrix. _:':“_:f:;y,;’.uf__%d( vii
2 31 -1
viil. Find the product of [] 2 }L} 5| LA AL i
12 ﬂ o 12 6
ix. IfAr-[ ¢ 3| then find detA ke d {detadn 4= { 6 Jﬁ ix
4- Write short answers of any six parts from the following. 2x6=12 -Q&faylﬁxﬂéfizg;,@}::_ptdjbn -4

i. What s meant by supplemenlary angles?
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i, Define circle.

it. The sum of two angles is 100,the supplement of the first angle
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exceeds the supplement of the second angle by 40° Find the angles. -U:/r}y%-ﬂ}-‘:—--"-’i\:;40 &MJ;L;__-__,I,-

iv. Define Altitude of a triangle.

v. Draw a circle with centre O and radius 2 cm.

vi. Find the hypotenuse of a right triangle each of whose legs is {
vii. Define cube.
viii. Find the distance between the given points (2.1-43)
ix. Define collinear points.
Section -II 8x3=24

Note: Attempt any three questions from the following:
(a) Find the value of {a+b+c)2 when the values of
{b) Y P(x)=3x"+kx-26 is divided by x-2 then find k if

remainder is zero.

2 - . -
(a) Simplify e
4 4
(b} Solve —(2x+3)210-
) -
T
{a} Solve by using the quadratic formuia. 2x+= =2

(b) Construct a rectangle with sides 10 cm and 6cm.

{a) Solve using matrix inversion method

4 2 2 1
b ¥ A= Bi= l
0 0/ |-2 4]

then verify that

3x-y=10, 2x+3y=3

AB # BA

{a) Find volume of cone whose altitude is Scm and

radius of base is 6cm.

a’+b+c?=32, ab+bc+ca=7

.r(x;y) '
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(b) Show that the points A(-1,1), B(3,2) and C(7.3) are collingar. -t 5Ek34C(7, 3)5B(3,2)A(-1.1 J.,.efjr ()
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NOTE: Write answers ic the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

guestion with Marker or pen ink on the answer sheet provided.

1.1. The symbo! = stands for:
(A) less than < ifa
(C) Less than orequalto  «sicle b
2. The solution set of x°=1 is:
(A} {1} (B) {+1) (€) {*i)
3. Number of techniques to solve the guadratic equation are:
{A) 2 (B) 3 (C) 4
4, Famous Mathematician Arther Cayley gave the concept of Matrices in:
(A) 1857 {B) 1757 (C) 1857
5. Two matrices with the same order and equal
corresponding elements are called:
(A) Equal Matrices  A#(5sL+
(C) Square Matrices b5~
6. An arc greater than a semi-circle is called:
(A) Chord 2 (B) Diameter *

7. The number of prependicular bisectors of sides of a triargle is: P Sx;lﬁgﬁ,‘ﬁ‘t&{,ﬂb'&wp/ ;
(A) 1 (B) 2 (C) 3 (D) 4
8. Area of a semi-circle is; e by i i
I 2 2 2
(A) Em' B8) 7 () 7*r (D) 2oy
9 Points lying on the same ling are cailed: W Llﬁ,m?g!,,;i,;‘@._{r ;
(A) Non-Collinear J:>‘(‘y-f (B) Coltinear LL»(? {C) Equal s~ (D} Overlapping J'-i’;'
10 Jg = afl is a surd of order. ::5:.,._*:3( ¥, - uz s
(A) O(zero) (B) 1 {(C) 2 {D) ?12'
11. (a+b)?+(a-b)? is equal to: ‘e se{arb)®+(a-b)’ .1
(A) -4ab (B) a*+b? (C) 2(a*+b?) (D) 4ab
12. The polynomial '3x-5' is an example of: S‘:‘_J'-.‘»uif/j;,?.r/%”’3x—5' .
(A) Linear Polynomial {}J/:‘."Lf-ﬂu{ (B) Quadratic Polynomial ;;‘},E"Zf.,u»
(C) Cubic polynomial L?//.":”qu:uf (D} None of these ﬂ(jf.»_ﬂufu
13. Factorization of (x+3)*-4 is: LJ8AS (x+3)4

(A) (x+1)(x+5) (B) (x-1)(x+5) (C) (x+1){x-5)

14. The HCF of 12 pq and 8p*q is:
2

(A) 4pg (B) 4p*q® (C) 4pq
15. For each number "x" the absolute value of x is denoted by
(A} x B) x (€ I

23-10-A- T 3 X -18000

(3) Equalto «.ixL

(B) Diagonal Matrices
(D) Unequal Matrices

[C) Minor Arc +2% 5
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(D) MajorArc oz

(D) (x-1)(x-5)

oK 8p2q12pq .
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Marks: 60

Section -1

2x18=36

2. Write short answers of any six parts from the following.

stz

26=12 S feli2 L g e e Sdits 2

i. Define Surd. s = f/..éfﬁgﬁ/ﬁ!ﬂ& i
i Reduce the expression to lowest terms, s :’ ,;_é&gu:fur},ﬁ;ﬁzﬁ": i
12x "y T "
P ’ " 2, ¥ P
i 1t (1) =33+ 7+ Ynen find P(0). _Jpin PO =307+ 249 i
7w
iv. Factorize 9a’-(b+c)® LEEGE
: 2 P I P
v. Factorize: X“+5x-6 &S v
vi. Factorize 1+64U° .f_?-jf- vi
- : S 5 . 2 2 "{ ):5‘, ¢ - . i
vii. Find H.C.F by factorization 14a’bc 21ab *‘7’}’1 b s Vil
viii, Define Highest Common Factor{H.C.F}. = :/_g:/‘jg'l}y?_si.- i
. o i = o0 T
ix. Find L.C M by factorization 18ab%c® Bab’c’ 24ab’c” _é;i,{‘jl""v'h_.__a'b;":}uf,{-;); ix

. Write short answers of any six parts from the following.

i. What is meani by absolute value?

26=12 Szl amig e e tditn 3
‘..'_.)'/“Lf.:_a..:»:’:j‘b 8

ii. Solve e ,a:}ru" i
iii. Solve 3(2x-1)=5(x-1) LA i
iv. Solve by using factorization 3x”-8x-3 HL,[.J;}";_E;EH';_.-'J-& iv
v. Write down the quadratic formula. _Vf";f’b’.;-,;,p@,m v
vi. Solve by using factorization. i(Jr +1)=73 _’fa"-j Falik Vi
vii. Define Matrix. * o 5:{..@/7:_&:__/'5.-“ il
I -1}

viii. Find the matrix product. [2 5]{2 3 g, i
[<1 2] -

ix. Find determinant | 3 _4J ..c;f;y‘"b“: X

4- Write short answers of any six parts from the following.

i. Define obtuse angle.

i Write the equation for the given tnangle and solve it.

x6=12 S fet g e M didits 4
= ‘_{*3’/5 J:’U—?/"‘T' i
-'%(JWK/;E&J:L/JMKJ; 5




K“P - )_-}_Q

iii. Define segment of a circle. 5 -';i:@ﬁd.,ﬁb’a;u i
iv. Define circum center of a friangle. = é}{...,c‘_v;ur}'}'/lféiﬁ‘ v
v. Draw triangle ABC with m:\nB_=30m and ;3!mBC=,’-fL,z‘.':4»Imﬁzﬁ'ﬁ;‘&ﬂ;ﬁ?__ LABCEAALLT v
mBC=4cm and right angle at B. ~# 2L BB
vi. Define cube. ' _%ir"_é;_fd'_._,f i
vii. The side of an equilaterai triangle is 6cm.Find its area. _z.:ﬁ}_.-‘-",._lri:’uff.,.f__}:‘d"-’sé‘bff_};m:ildsu il
viii. Define origin. _%’(_éfd;fy Vil
ix. Find the distance between(b,-a} and (a,-b). _a_'g?:l’”y bl (b,-a)ul(a,-b) ix
Section -II 8x3=24 (122>
Note: Attempt three questions in all while Q:No.9 is compulsory: _‘l:_d)ﬂg/-,;;_)lr.{'éu‘};j:-,yﬁﬁa Ul f s
5. (a) Ifx=2++/3 then find the value of (i) x— i (ii). X +—}_~ LS iy =243/ (L) 5
(b) If P(x)=3x>+kx-26 is divided by x-2, find k,if xﬂg./i“éga—_,i..ﬂf‘;:i'x—2f P(x)=3x>+kx-26.)1 ()
remainder is zero. *;_,j)fc-J-"‘;.‘»fJ ki
6. (a) Findthe L.C.M by Factorization: x+64, x’-16 _-V_'/r;?’fi,_jlxbis_id_f;f;Ig () 6
x=2 2 x-4
(b) Solve 29N, G F G
7. (a) Solve by completing square method. x*+6x-3=0 S e Pl C’j_m!f (a7
(b) Draw a triangle ABC in which mBC=5 4cm, AmAB=4.3cm:mBC=54om AL BABCEE (L)
mAB=4 3cm and mAC=3 Scm Find the incenter _1*;5:./"3"-";_.»*-"}}6;_,.:'!,{_ mAC=3.9cm
8. (a) Solve using matrix inversion method.  3x-y=10, 2x+3y=3 2 ;.:ﬁ;f"c_,:a_,).f...;mﬁ* (- 8
_{_:[2 3] BJ_I 7] _4____’3 n._ﬂ?‘ 71 ’
R A P ' L 57714 6] &2
then show that 3B-3A=3(B-A) o St i
9. (a) A ladder 17cm long when set against the wall of 2 house just 1922 b W M s 17,0 (L) 9
reaches a window at a height of 15m from the ground.How T A &%Jp{}';élf;f_ﬁﬂ 51824
far is the iower end of the fadder from the base of the wall. S‘é_;:;.-_jr

(b) Show that the points A(6,1), B(2,7) and C(-6,7) are of a

LIC(-6,7)4B(2,7),AB, Neb 22k (o)
scalene triangle. —p LBl hen e
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